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Plot [['EcFgro', 'EcFzExp', 'EcPItng’, 'ECdef’, 'EcParam’, 'water_ec']]
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Plot ['ECopt']
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plot dfFv
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plot dfFv (daily AgqQ)
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Plot minDeltaM, minDeltaMs, minDeltaMt
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M10_E (-10.2%/D, -8.7%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_E
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M10 E1 (-16.9%/D, -14.4%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_E1

-0.02 —=
® o
® maPctDeltaM10 E1 ® pdMPerEtL_M10 E1 () ® ®
-0.04 - - — -0.1 e & '°o 'Q*. oo oo »)*
o ® °

-0.06 - * o *So. o o . e, : Py
-0.08 1 ® % s ® o

o o
0101 o o ? e ° . ° 031 * -

o o

-0.12 - P L ®e o © ® o

Y o © -0.4 A
-0.14 ~ o () ..

o °®
-0.16 - ° g -0.5 1 °®
o @ ® e
200 400 600 800 1000 1200 1400 200 400 600 800 1000 1200 1400
maETcldef makETcldef




Daily %DeltaM and %DeltaM/1000ml ETcldef for M20 _E (-14.0%/D, -12.0%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_E
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M20 E1 (-10.4%/D, -8.9%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30_E (-5.8%/D, -4.9%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_E
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30 _E1 (-2.4%/D, -2.1%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M_E (-4.2%/D, -3.6%/1000mlI ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M_E
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Fg Trigger Score (by Et and sensor )
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Plot liquid fertilizer usage
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Plot solid fertilizer usage

T T . 600 A i
: —0— fzStockA 300 4 —®— cumStockA 4000 - t r““““"““""" bO-6-0-0—¢ * : —0— expFDFS
: == fzStockAov == cumStockAov ' 500 A :
! —e— fzStockB 250 1 —e— cumStockB 3500 1 h R, :
fzStockBov 200 - -%- cumStockBO\: 3000 - \ I 400 - i
150 1 : 2500 1 o 1 :
1 '(. 300 A i
100 - 2000 - .‘ ( : :
1 I
200 A
50 - 1500 - : —®— expECS :
I
Ty V VIV VIRVIRY, 0 - S N S M LI R T H A OO ¥ ¢ ¥=X—| 1000 - L 4 : fzStbekECS 100 ~
25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 25 50 75 100 125 150 175 25 50 75 100 125 150 175

d d d d



Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa

—e— kg hN L —— kg hNL | 1500 1 —e— kg hP205 L —e— kg _hK20 L
| 1000 i i
4000 kg_hP205_L =»%=- kg_hNov_L , 1250 =»%- kg hP2050v_L 4000 1/ -%- kg_hK20ov L
—o— kg_hK20_L 800 - :
3000 A : 1000 - 3000 A
600 : 750
2000 - : 2000 -
400 1
500 A =X
36 D€ X
1000 - /.0-0-0—0-0 500 - M 1000 4
0 - N i 0 1 NOOIIHEINISIEABGNENE)DE (=) > X 0 1 0 1 SNCOEIINIII0ESIRABINNNE)E H(=)¢ > X
0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175



Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa
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